Place the events below in the correct order and identity the correct staves
e.g. 1-B (S1)
A. Scrooge hears the clanking of chains
B. Scrooge attends the funeral of Jacob Marley
C. Scrooge refuses to make a charitable donation
D. The Ghost of Christmas Past appears in Scrooge’s room
E. Fred invites Scrooge to Christmas dinner
F. The Ghost of Jacob Marley appears in Scrooge’s room
G. Scrooge is shown phantoms outside his window
H. Scrooge criticises Fred for falling in love and getting married
I. Scrooge is taken on a journey to where he grew-up as a boy
………………………………………………………………………………………………………………………………………….
Provide two reasons to support each of the statements below
e.g. Scrooge is an unpleasant character because he demonstrates a shocking lack of empathy and… 
1. Scrooge is an unpleasant character
2. Bob is mistreated by Scrooge
3. Scrooge and Fred are contrasting characters
4. The Ghost of Jacob Marley is a miserable character
5. Poverty was significant problem in Victorian England
………………………………………………………………………………………………………………………………………….
Explain the significance of each image that has been underlined
e.g. A door-nail is a cold and inflexible iron bolt, so the image is significant because…
1. Old Marley was as dead as a door-nail
2. Hard and sharp as flint
3. Solitary as an oyster
4.  The cold within him froze his old features
5. He had so heated himself with rapid walking in the fog and frost
6. I wear the chain I forged in life
………………………………………………………………………………………………………………………………………….
Craft a detailed paragraph of analysis for each of the tasks below
e.g. Scrooge is a caricature, which means that his worst characteristics are purposefully exaggerated…
1. Explain the characteristics Scrooge possesses that Dickens invites his readers criticise
2. Explain the values that Dickens wanted to promote through the characters of Fred and Bob 
